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General Instructions

1. The Question Paper is having 100 Objective Questions, each carrying one mark.
2. The answers are to be (v) ‘tick marked’ only in the “Response Sheet” provided.

3. Negative marking : 0.25 marks will be deducted for each wrong answer .
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To be filled in by the Candidate

Register | in Figures
Number

in words

Choose appropriate answer from the options in the questions.
(100 x 1 = 100 marks)

1.  Who among the following said that “Conceivably political theory at the present
day may not be undergoing one of its many metamorphoses, passing through a
chrysalis stage before emerging in a new form. It may just be coming to an end”?

A. Peter Laslett
B. Robert Dahl
C. Alfred Cobban
D. David Easton



2. Who among the following stated that political theory covers three kinds of factors-
the factual, the causal, and the valuational?

A. Isiah Berlin B. George Sabine
C. Leo Strauss D. Eric Vogelin

3. Who among the following characterized behavioural revolution as a ‘protest

movement’?
A. George Catlin B. David Easton
C. Robert Dahl D. Charles Merriam
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Match the following and select the correct pairs :
(Authors) (Works)
(i) Robert Dahl (1) Decline of Political Theory
(i) George Catlin (2) What is a Political Theory?
(iii) George Sabine  (3) Political Theory : Truth and Consequences
(iv) Alfred Cobban (4) Political Theory : What is it?

(i) (i) (i) (iv)
A4 Q) (1) (@
B. (3 4) (2 (1)
C. (2 (1) @ ©)
D. (1) 2 3 4

Who among the following said that “for behaviouralists, the study of reality could
qualify as scientific only if it used the methods of the natural sciences, that
problems couched in other terms were illusory and irrelevant”?

A. Leo Strauss B. Sheldon Wolin
C. lIsiah Berlin D. Eric Voegelin

Ralph Miliband’s book “The State in Capitalist Society” is primarily a critique of :
A. Communism B. Feminism
C. Pluralism D. Anarchism

Who among the following has criticized the crude economism of orthodox
Marxists as ‘primitive infantilism’?

A. Georg Lukacs B. Theodor Adorno
C. Antonio Gramsci D. Milton Friedman

Who among the following is a structural Marxist?
A. Antonio Gramsci B. Herbert Marcuse
C. Jurgen Habermas D. Louis Althusser

Who among the following said that “The positive conception of the state not only
involves no conflict with the true principle of personal liberty, but is necessary to
its effective realization™?

A. L. T.Hobhouse B. J.S.Mill
C. T.H.Green D. J. A. Hobson
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10.

11.

12.

13.

14.

Who among the following said that the state, beyond its role of maintaining
internal law and order and the rule of law, protecting private property and
defense of society against external attack, is an “intolerable one™?

A. Herbert Spencer B. Thomas Paine
C. Jeremy Bentham D. Adam Smith
Match the following and select the correct pairs :
(Authors) (Books)
(i)  Vladimir Lenin (1) The Capitalist State : Marxist Theories
and Methods
(i) Ralph Miliband (2) Political Power and Social Classes
(iii) Nicos Poulantzas (3) The State and Revolution
(iv) Bob Jessop (4) The State in Capitalist Society

(i) (i) (i) (iv)
A4 3 (1) @)
B. @) 4) 2) (1)
C. @ (1) @4 O
D. (1) (2) B 4
Who among the following said that “the whole conception of interference or non-
interference by the state rests on the assumption of a private sphere delimited by

general rules enforced by the state; and the real issue is whether the state ought
to confine its coercive action to enforcing these rules or go beyond this”?

A. J.S. Mill B. Robert Nozick
C. Friedrich Hayek D. Milton Friedman

Who among the following said that “civil society and state are one and the
same”?

A. John Lock B. Thomas Hobbes
C. Charles Lindblom D. Antonio Gramsci

Match the following and select the correct pairs:
(Authors) (Works)
(i) Bachrach and Baratz (1)  Power : A Radical View
(i) Keith Boulding (2)  Power : A New Social Analysis
(iii) Steven Lukes (3)  Three Faces of Power
( (4) Two Faces of Power

(i) (i) (i) (i)
A4 Q) (1) (2
B. (3 (4) (2 (1)
C. (2 (M @ O
D. (1) (2 @) @

4 T-2100



15.

16.

17.

18.

19.

Which of the following statements about Michael Foucault’s conception of power
are correct?

(i) Power is exercised through relationships.

(i) Power is located in a class

(i) Power is a productive network

(iv) Power creates our sense of what counts as normal
Select the correct answer from the codes given below:

Codes :
A. (i), (iii) and (iv) B. (i), (iii) and (iv)
C. (i) and (ii) D. (i), (ii), (iii) and (iv)

Which of the following statements about Isaiah Berlin’s conception of liberty are
correct?

(i) The wider the area of non-interference the wider my freedom.

(i) Liberty is liberty, not equality or fairness or justice or culture.

(iif) Mere incapacity to attain a goal is lack of political freedom.

(iv) There is no necessary connection between individual liberty and democratic

rule.
Select the correct answer from the codes given below:
Codes:
A. (i), (i), (iii) and (iv) B. (i), (i) and (iv)
C. (i), (iii) and (iv) D. (i) and (ii) only

Who among the following said that “the mere impulse of appetite is slavery,
whilst obedience to a law which we prescribe to ourselves is liberty”?

A. J.S. Mill B. Isaiah Berlin
C. Jean-Jacques Rousseau D. Thomas Hobbes

Who among the following said that “until there is justice within the family, women
will not be able to gain equality in politics, at work, or in any other sphere”?

A. Susan Moller Okin B. Betty Friedan
C. Harriet Taylor D. Martha Nussbaum

Which one of the following statements about the communitarian conception of
justice is not correct?

Individual is a situated being
Justice is a particularistic value
The state should be neutral among the ends its citizens espouse.

Liberal conception of justice is normatively unsatisfactory and empirically
false.

oowp>
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20.

21.

22.

23.

24,

25.

26.

27.

28.

Who among the following called the idea of social justice a “mirage”?
A. Robert Nozick B. Milton Friedman
C. Friedrich Hayek D. Ronald Dworkin

For Plato, which one of the following is a “positive” means of realizing his
conception of justice?

A. Education B. Communism

C. Religion D. Culture

Plato talks about Nocturnal Council in

A. The Laws B. The Republic

C. The Statesman D. All of the above

Which one of the following is a pure form of government according to Aristotle?
A. Tyranny B. Oligarchy

C. Aristocracy D. Democracy

Which one of the following statements is not correct in respect of Aristotle?
A. Middle class constitutes the mean in social structure.

B. State is a moral and natural institution.

C. Individual is prior to the state.

D. State is not equivalent to the family.

Which one of the following constitutions Cicero wanted to restore in Rome?
A. Oligarchic B. Monarchical
C. Avristocratic D. Republic

Which one of the following statements is not correct in respect of Cicero?

A. He was the supporter of mixed constitution and the theory of the historical
cycle of constitutions.

He derived these from Polybius.
He did not use Stoic conception of natural law.
He saw the state as the people’s affair.

Cow

St. Augustin’s -The City of God is divided into

A. 18 books B. 22 books

C. 20 books D. 23 books

Which of the following is not an organ of Kautilya's Saptang theory of state?
A. Swami B. Durga

C. Kosha D. Varna system
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29.

30.

31.

32.

33.

34.

35.

Who among the following said that “The whole of the Renaissance is in
Machiavelli”?

A. Sabine B. Laski

C. Wolin D. Dunning

Whom did Machiavelli blame for the moral degradation of Italy?
A. The Aristocracy B. Corrupt People

C. The Church D. The Prince

Which one of the following is not a feature of Jean Bodin’s definition of
sovereignty?

A. Supreme power unrestrained by law
B. Multiple centers of power

C. Absolute power

D. Perpetual power

Who among the following distinguished between a common and a special subject
of sovereignty?

A. Jean Bodin B. John Austin
C. Hugo Grotius D. Thomas Hobbes

Which among the following are the four Purusharthas as identified in Indian
philosophy?

A. Dharma, Shakti, Moksha and Kama

B. Moksha, Dharma, Danda and Shakti

C. Dharma, Artha, Kama and Moksha

D. Kama, Dharma, Shakti and Artha

Which one of the following is incorrect?

A. Jawaharlal Nehru moved the-Objectives Resolution in the Constituent
Assembly on 13 December 1946

K. M. Munshi was one of the seven members of the Drafting Committee

B
C. The Constituent Assembly was constituted on the basis of the scheme
proposed by Cabinet Mission

D. Jawaharlal Nehru was the chairman of the Provincial Constitution
Committee

Who among the following called the Government of India Act of 1935 as
“a charter of slavery”?

A. Mahatma Gandhi B. Rajendra Prasad
C. Jawaharlal Nehru D. Sardar Patel
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36.

37.

38.

39.

40.

What is the correct order in which the following terms are enshrined in the
Preamble to the Constitution of India?

(i) Liberty

(i) Equality

(iif) Fraternity

(iv) Justice

Select the correct answer from the Codes :

A. (i), (iii), (ii) and (iv) B. (iv), (i), (ii) and (iii)
C. (iv), (iii), (i) and (i) D. (iv), (i), (iii) and (ii)

Who among the following said that “Indian Constitution was born more in fear
and trepidation than in hope and inspiration”?

A. Paul Brass B. Granville Austin
C. Myron Weiner D. Morris Jones

The President of India can exercise his discretionary powers when :
A. After an election, no single party commands majority in the Lok Sabha
B. A bill has been sent for Presidential assent without a stipulated time frame

C. An incumbent government loses majority in the Lok Sabha and the Council
of Ministers recommends dissolution of the House

D. All of the above

Assertion (A) : Part Il and part IV of the Constitution of India are
interdependent.

Reason (R) : Political liberty depends on social and economic liberty.

Codes::

A. Both (A) and (R) are true and (R) is the correct explanation of (A)

B. Both (A) and (R) are true but (R) is not the correct explanation of (A)
C. (A)isfalse but (R) is true

D. (A)istrue but (R) is false

Arrange the following writs in the correct sequence as given in the Constitution of
India :

(i) Mandamus

(i) Habeas Corpus

(iii) Certiorari

(iv) Prohibition

(v) Quo-Warranto

A. (i), (i), (iv), (iii), (v) B. (i), (iv), (i) (v), (iii)
C. (i), (v), (iii), (iv), (i) D. (i), (i), (iii), (iv), (v)
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41.

42.

43.

44.

45.

Match the following cases and the features of the Indian Constitution impacted by
them :

(i) Golak Nath Case (1)  Fundamental Rights

(i) A.K. Gopalan Case (2)  Parliamentary Sovereignty
(iii) S.R. Bommai Case (3) Right to livelihood

(iv) Olga Tellis Case (4) Secularism in India

Codes :
(i) (i) (i) (iv)
A (1) (2) 4) )
B. (2 (1) 4) @)
cC. (B @2 1) @
D. (4 ) (1) (2
Which one of the following cannot be dissolved but can be abolished?
A. Raja Sabha B. Lok Sabha
C. State Legislative Assembly D. State Legislative Council

Which of the following is not a condition for Indian Parliament to legislate on the
subjects mentioned in the State List?

A. If a state of Emergency is declared
B. If a treaty with a foreign country has to be put into effect

C. If Lok Sabha decides that a subject mentioned in state list is of national
importance

D. If two or more states assemblies pass a resolution to such an effect

The Supreme Court and the High Courts in India can issue writs under Articles:
A. 132 and 133 B. 131 and 143
C. 214 and 220 D. 32and 226

Which one of the following is not applicable to Public Interest Litigation?
A. Public spirited citizens can move the court on behalf of the poor

B. Constitutional obligation of the judiciary towards the marginalised sections of
society

C. Judiciary overlooks a strict construction of procedural formalities in
entertaining petitions

D. Locus standi
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46.

47.

48.

49.

50.

51.

Who among the following has characterized the judicial activism in India as a
“chemotherapy for the carcinogenic body politic’?

A. Pratap Bhanu Mehta B. Upendra Baxi

C. P.N. Bhagwati D. Rajni Kothari

Who among the following presides over a joint sitting of the two Houses of
Parliament?

A. Chairman of Rajya Sabha B. President
C. Speaker of Lok Sabha D. Prime Minister

Public Accounts Committee consists of

A. 14 members from Lok Sabha and 8 members from Rajya Sabha
B. 15 members from Rajya Sabha and 7 members from Lok Sabha
C. 12 members from Rajya Sabha and 10 members from Lok Sabha
D. 15 members from Lok Sabha and 7 members from Rajya Sabha

Under which Article the Supreme Court of India exercises advisory jurisdiction?
A. Atrticle 32 B. Article 131
C. Article 132 D. Article 143

Who among the following is the author of an article titled-the Avatars of Indian
Judicial Activism : Explorations in the Geographies of [In] justice?

A. Durga Das Basu B. Upendra Baxi

C. Justice A.S. Anand D. None of the Above

Match the following evolution stages of Public Administration.

(i) Stage 2 (1) Era of Challenges (1938-1947)

(i) Stage 5 (2) Crisis of Identity (1948- 1970)

(iii) Stage 3 (3) Politics—Administration Dichotomy
(1887-1926)

(iv) Stage 1 (4) Public policy Perspective
(1971- continuing)

(v) Stage4 (5) Politics -  Administration  Dichotomy

(1917-1926)
(6) Principles of Administration (1927- 1937)

Options :

(i) (i) (i) (v) (v)
A (1) 2) 3) (4) (6)
B. (2) (4) 5) (1) (3)
C. () () (1) (2 (4
D. (6 “4) (1) Q) (2
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52. Which of these statement/s is/are correct regards to “Right to information”?

53.

54.

95.

(i) USA was the first country to introduce the right to information
(i) It means openness and transparency in government functions.

(iif) It promotes public interest by discouraging arbitrariness in administrative
decision making.

(iv) The fifth pay commission recommended the abolition of official secrets act
and introduce the right to information act.

(v) Commission of inquiry act recommended the right to information act.
Options :

A (i), (i), (v) B. (ii) only
C. (i), (iii), (iv) D. (i), (ii), (iii), (v)
Match the India — Pakistan events/agreements
(i) Shimla agreement (1) 1972
(i) Operation Meghdoot (2) 1949
(iii) Karachi Agreement (3) 1984
(iv) Delhi Agreement (4) 1975
(i) (i) (i) (iv)
A (1) 2) 3) (4
B. (1) B) 2) 4)
cC. (@ 3 (1) ¢4
D. (4 ) @ )

Who commissioned Zainual Abedin Shustari to write the military manual ‘Fathul
Mujahideen’ for the kingdom of Mysore?

A. Mohammad Igbal B. Krishnadevaraya
C. Akbar D. Tipu Sultan

Which statements are true about National Environment Protection Act- “NEPA”,
choose the correct option?

(i) Itis an environment impact assessment came into force on 1 January 1970.

(i) Before ‘NEPA’ United Kingdom issued cautionary guidelines for good and
bad environment practices in urban design.

(iif) UK initiated National Environment Protection Act.

(iv) Before NEPA formal evolution process considered only two major indicators
such as financial viability and technical feasibility.

Options :
A. (i), (i), (iii) B. (i), (iii), (iv)
C. (i), (ii), (iv) D. (i), (iii), (iv)
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56.

57.

58.

59.

60.

“African Growth and Opportunity Act” was established in which Year?
A. 2000 B. 2008
C. 2011 D. 2021

Who has described bureaucracy as an “organization consisting of a division of
labor, authority, hierarchy, written rules, filing of correspondence and activities,
impersonality, a disciplined structure, and official position?

A. Max weber B. Marxist theory of bureaucracy
C. Fred W Riggs D. Talcott Parsons

Which Islamic scholar fought for India’s freedom from British rule and became
advocate of secular India?

(i)  Muhammad Ali Jinah

(i) Maulana Hussain Ahmed Madani

(iif) Maulana Abul Kalam Azad

(iv) Muhammad Igbal

Choose the correct option:

A. (i) and (iii) B. (i) and (iii)
C. (i) and (iv) D. (i) and (iv)

What are the levels of reflection and deliberation on ethical issues in public
administration discussed by Cooper?

(i) Level of moral rules

(i) Level of ethical analysis

(iii) The Post ethical level

(iv) The expressive level

Choose the correct option:

A. (i), (i), (iii), (iv) B. (i), (iii), (iv)
C. (i), (iii), (iv) D. (i), (i), (iii)

Which of the Indian President article is not correctly paired?

Subject — matter Articles no.
A. Election of President — 54
B. Eligibility of re-election - 57
C. Oath or Affirmation by the President — 61
D. Vice- President to act as President or to
discharge of his functions - 65
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61.

62.

63.

64.

65.

Match the following authors with their respective works:

(Author) (Books)
(i) Narendra Singh Sarila (1)  Demstifying Kashmir
(i) C. Dasgupta (2)  The shadow of the great game: The
untold story of India’s Partition
(iii) V.P. Malik (3) War and diplomacy in Kashmir
1947-48
(iv) Navnita Chadha Behera (4)  Kargil: from surprise to victory

i) (i) (i) (iv)
3) (2) 4) (1)
2) 3) 4 (1)
4) (1) Q) @)
D. @) (1) @ )

Who compiled Sayyid Ahmed Barelvi teachings in the form of two treaties,
Sirat’'ul Mustaqgin (The Straight Path) and Taqwiyatul — Iman (Strengthening of
the Faith)?

A. Shah Abdul aziz B. Shah Ismail Dehlavi
C. Shah Abul Bakar D. Shah Kareem Shah

Which transcontinental country’s leader was also a founding member of Non-
Aligned Movement with Jawaharlal Nehru?

(
A (
B. (
C.

A. Yugoslavia B. Ghana

C. Egypt D. Indonesia
Which year the outer space treaty was signed?

A. 1963 B. 1967

C. 1972 D. 1994

India and USA has not signed which of the geospatial cooperation?
A. Logistic Exchange Memorandum of Agreement (LEMOA)

B. Basic Exchange Memorandum of compatibility and Security Agreement
(BEMCASA)

C. Communications Compatibility and Security Agreement (COMCASA)
D. Basic Exchange and Cooperation Agreement (BECA)
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66.

67.

68.

69.

70.

Who has critical perspective about India’s contribution in UN peacekeeping
operations and stated that ‘Indian policy makers have not made any major
contribution to discussion about Peacekeeping strategies. They contend that
India's diplomacy at the UN is centered on “tactical processes rather than
strategies”?

(i) Richard Gowan

(i) Sushant K. Singh

(iif) Joseph Nye

(iv) Xi Jinping

Choose the correct option:

A. (i) and (ii) B. (i)and (iv)

C. (i) and (iii) D. (i) and (iv)

Where do India stands in terms of digitalization of users among G20 Countries?
A. 10 B. 18

C. 14 D. 12

Which thinkers distinct between public and private administration?
(i) Herbert A Simon

(i) Peter Drucker

(i) R.A. Dahl

(iv) F.W.Riggs

Choose the correct options:

A. (i), (i) B. (ii), (iv)

C. (i), (iv) D. (i), (iii)

At the COP 26 held in 2021, by which year India has nationally accepted to get to
net zero?

A. By 2060 B. By 2045
C. By 2047 D. By 2070

Who was the chief guest of India’s Republic day celebration in 20237
A. Joe Bidden

B. Abdel-Fattah el-Sisi

C. Emmanuel Macron

D. Sheikh Mohamed bin Zayed Al Nahyan
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71.

72.

73.

74.

The Present system of recruitment to All India Services and Higher central
services in our country is based on which of the following committee’s
recommendation?

(i) The Macauley committee

(i) The L.M. Singhawi committee

(iii) The Kothari committee

(iv) The Satish Chandra Committee

Choose the correct option.

A. (i), (i), (iv) B. (i), (iii), (iv)
C. (i), (iii) D. (i), (iii), (iv)

Who argues that “Kashmir problem is the result of three forces : religious
nationalism represented by Pakistan, Secular nationalism epitomized by India,
ethnic nationalism embodied in what Kashmiri call Kashmiriyat being a
Kashmiri"?

A. Ashutosh Varshney B. Sisir Gupta
C. J.N. Dixit D. S.K. Sinha

Where do artificial intelligence stands as a sub-pillar of digitalization measure
framework of CHIPS —‘Connect, 'harness, innovate, protect, sustain’ pillar?

A. Connect B. Harness
C. Innovate D. Sustain

What are the statements is correct about e-governance?

(i) It is a citizen based administrative approach which is based on the
interaction between organization and stakeholders.

(i) It aim is to achieve saving in the costs of public services by using electronic
tools in both the offering of government services to the public and the
regulation of public services.

(iii) It increases the efficiency and productivity by carrying the capabilities and
the network.

(iv) E- state is not a tool of it.

Options:

A. (i), (i), (iii), (iv) B. (i), (ii), (iii)
C. (i), (iii), (iv) D. (i), (ii), (iv)
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75.

76.

7.

78.

79.

80.

India is not a member of which of the organization?

A.
C.

BIMSTEC
GCC

B.
D.

IBSA
QUAD

When European Union sent its first space strategy for security and Defence?

A.
C.

What is the statement is not true about Human Relation Theory?

A.

B
C.
D

For which renewable energy devices the semiconductor is essential?
Wind turbines

(i)
(i)
(iii)
(iv)
A.
C.

July 2010
July 2023

B.

March 2020
D. March 2023

It emphasizes on the informal organization
It assumes that people are homogeneous
It emphasizes democratic style of supervision
It emphasizes the sociological and psychological aspects of organization

Batteries

Solar panel

Biomass

(i), (ii), (iv)

(i), (ii), (iii)

B.
D.

(ii), (i), (iv)
(i), (i), (iii), (iv)

Who wrote ‘Tarana — e-Hindi’ which is even sung today as ‘Sare Jahan Se

Achcha Hindustan Humara?
A. Rabindranath Tagore
Bankim Chandra Chatterjee

C.

According to US Department of Defence unified command plan?
USNORTHCOM

USNORTHEASTCOM

USINDOPACOM

(iv) USEUCOM

Choose the correct options:

(i), (iii), (iv)

(i)
(if)
(iii)

A.
C.

(), (i), (i)

16

B.

B.
D.

Kavi Pradeep
D. Mohammad Igbal

(i), (iii), (iv)

(i), (ib), (iv)
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81.

82.

83.

84.

Who has described digitalization as “The use of digital technologies and data as
well as their interconnection that result in new activities or changes in existing
ones”™?

A. Oxford university B. OECD
C. WTO D. World Bank

What is India’s “Act Far East Policy”?

A. Connect India’s Northeast Region with East Asia to strengthen Economic
cooperation.

B. Connect India’s East region with Japan’s Far East Area for military exercise.

C. Connect India’s Eastern ports with the Russia’s Far Eastern region for
alternative energy sources and supply lines.

D. Connect India’s Eastern ports with Japan to increase trade and investment.

Who stated that ‘while serving the people of Jammu and Kashmir, we gave
primacy to three pillars-understanding citizen’s concerns, building trust through
supportive actions, and prioritizing development, development, and more
development?

A. Amit Shah B. Narendra Modi
C. Rajnath Singh D. Justice D.Y. Chandrachud

Which of the statements are not true about ‘New Africa policy’?
A. A policy to revive Africa economy post pandemic.

B. During his 18" trip as president Emanuel Macron saw the implementation of
his new Africa policy.

C. The quintessence of the New Africa policy is to banish the notion of France
as an arrogant former colonial power and substituting it for an image of a
long term partner amid growing competition.

D. For confidence building Macron decided to return cultural artifacts during
colonial wars and enhance societal interaction through the Africa-France
summit 2021.
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85.

86.

87.

88.

Match the following Panchayati Raj Committee with their formation year?
(i) Balwantray Mehta Committee (1) 1986

(i) G.V.K. Rao committee (2) 1985

(iii) L.M. Singhvi Committee (3) 1957

(iv) Ashok Mehta Committee (4) 1977
(i) (i) (i) (iv)

A (1) B) (2) (4

B. “4) (2) 3) (1)

cC. (B @2 (1) @

D. 3 4 (1) (2

When Jinnah Joined Indian National congress in 1906, whom called him “An
Ambassador of Hindu — Muslim Unity”?

A. Sardar Patel B. Jawaharlal Nehru
C. Gopal Krishna Gokhale D. Mahatma Gandhi

Which are the statements are true about the influence China’s nuclear policy?

(i) China develop nuclear arsenal due to US nuclear threat in Korea war in
1951.

(i) China was the third country to develop nuclear weapon.

(i) China had successful relation with Joseph Stalin, without Soviet Union
technical and scientific aid Chinese nuclear programme might have more
time consuming.

(iv) China develop first nuclear test on 1952.
Choose the true statement.

A. (i), (i), (iii) B. (i), (iv)
C. (i), (iii) D. (i), (iii)

What is not a consequence of Russia-Ukraine war on Russia’s Arctic Strategy?

A. It seems that war has led to more environmentally risks projects being
realized in the Russian arctic.

B. Russia’s Exports of hydrocarbons have been partially re- routed to Asian
markets.

Iran is also a part of Russia’s Arctic Strategy

D. Russia has become less sensitive about allowing China to take a larger role
in the Arctic.

o
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89.

90.

91.

92.

93.

94.

Which statement is not true about India as a Nuclear state?

A. India conducted its first peaceful nuclear explosion in 1974.

B. India became nuclear weapon state in 1998.

C. India did not sign 123 agreement on civilian use of nuclear energy with USA.
D. India announced a ‘No first use policy’

Arrange this Indian states in their ascending order on digitalization :

(i) Karnataka

(i) Maharashtra

(iii) Gujarat

(iv) Telangana

A, (iv), (i), (i), (i) B. (iii), (iv), (i), (i)

C. (i), (iii), (i), (iv) D. (i), (i), (iv), (iii)

Which of the following is described as anti-theoretic, anti-positivist, and
anti-hierarchical?

A. Comparative administration B. Development administration

C. New public administration D. Ecological administration approach

Which country has the third largest troop’s contribution in UN Peace keeping
missions?

A. Bangladesh B. Japan
C. South Korea D. India

Which of the statement is not true about the “Direct Action Day”?

A. After failure of the Cabinet mission plan in 1946, Jinnah declared the ‘Direct
Action Plan’.

B. Jinnah declared Direct Action Plan on 14 August as ‘Direct Action Plan’.
C. The ‘Direct Action Plan’ unleashed nationwide communal riots in Calcutta.

D. ‘Direct Action Plan’ alleged over 4,000 were killed and 1,00,000 people
rendered homeless.

What is not a part of Five Principle of Peaceful coexistence?
A. Mutual respect for territorial integrity and sovereignty

B. Mutual non-interference in internal affairs

C. Mutual aggression

D. Peaceful coexistence
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95.

96.

97.

98.

99.

100.

Who was the founder of Afsharid dynasty of Iran?

A. Nadir Shah B. Muhammad Shah

C. Afsharid shah D. Muhammad Noor-Jahan Shah
When India announced comprehensive engagement with Central Asia?

A. 2019 B. 2022

C. 2017 D. 2020

Match the following books with Authors?
(Books) (Authors)

(i) The study of Administration (1) Henry Fayol
(i) The art of cutting Metals (2) Mooney and Reiley
(iii) General and industrial management (3) Woodrow Wilson
(iv) Onward industry (4) F.W. Taylor
Choose the correct option:

(i) (i) (i) (iv)
A (2) 4 3) (1)
B. (3 ) (1) 2
C. 4 3 (1) @
D. (1) B @) 4

Which political scientist was responsible for the development of behavioural
approach to the study of political theory?

A. David Easton B. Almond
C. Karl Deutsch D. Robert Dahl

Since 2017 India has managed to give what percent of share of peacekeeping to
women, which only 26 other countries have done?

A 15% B. 25%
C. 33% D. 48%

Which of the statement is not true about Maulana Abul Kalam Azad?
A. He worked for Hindu — Muslim Unity

B. He wrote Al-Hilal newspaper

C. He was conferred the Bharat Ratna Posthumously in 2005

D. He was the president of INC from 1940 to 1945
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